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1. In Which discipline United States holds maximum number of Nobal Prize awards? .

(A)Science | (B) Physics (C) Chemistry ) Medicine-physiology

mm#q«mmwmmmﬁmmmmp

(A) Rem (B) Wt O)F IR (D) IRA iR Rme
2. Sepﬁembul&wobservedas M A

(A) World Vegem'lan Day <(B) United Nations Day

(C) World Rabies Day ) World Television Day

28 Ryt R w9 3 W o 22 :

(A) ey wrerErd Raw (B)wgmm;mm A

(C) Rz Yo Raw (D) vy Tehfws fRaw

3.  Who said these words :

thlwashalepcrswomds.lfeellamnumngthe[mﬂhlmsdf’l‘ouchaleaper touch him with
Ve

A) Mother Teresa (B) Mother George (C) Yulkania \,({ ) Sister Herkey
L RN A e we

m#wwzfnﬁ%mﬁmm’gﬁgﬂwwﬁmtﬁsﬁmwﬁ
mwmwywwﬂmwiﬁm%Mﬁl

(A) TR T (B) 7= SISt (C) gemhra (D) Ry =&
4. Junk e-mail is also called sl ag fid'
(A)Spoof " (B)Spool " (C)Sniffer soript ) Spam T 7T 4
St §Ha o 78 0 e & | ‘ .
(A) ¥ (B) T (O e (D)¥H
s.\;sxchofthefollowmgcupsluwhmxsassocmedw:thfoomam et
\8) Davis Cup (B) Deodhas Trophy. (C) Champions Trophy  ~A0) Santosh Trophy
T | B G 39 /ST R/ ot 22
(A) 3w oY (B) ZTH (C) R w1 (D) Ha FTH
6. With whose permission dad the English set up their first factory at Surat?
_ (A) Akbar Jahangir (C) Shahjahan ) Aurangzeb
R orors A S 7 YR H AU vEAT Frear wf e g oo
(A) IIBAX (B) WEriR (C) TTEET (D) 3BTo l
7... Which oaie 6T the followingis the kigost Mational Highway n Indis? ol ooy
(A)NH2 CWABNHT . . (C)NHS D)NH31
(A)NH 2 _ (BYNH7 .. (©NHB (D) NH 31

inihar

8. Blue colour of the sky is ey TP - Tkt
{A) reflection S z) refraction . (C) scattering (D) dispersion
e 1 e o7 . @7 oo # S
(A) TR (B) gads (€) R (D) Bag
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10.
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13.

14.
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Which is the best-known bird sanctuary in Haryana?

(A) Sultanpur AB) Bharatpur (C) Rajaji (D) Sariska
=REoT B HaY 3P T UE FHIRTI B 80
(A) FFTTR (B) #RAR (C) Tl (D) ST
Prime Minister Manmohan Singh has declared decade 2010-2020 as
(A) Decade of Innovation AB) Decade of Science
(C) Decade of Poetry (D) Decade of Children
wuT A wEEE RiE 3 e 2010-2020 B w9 F aifte B @7
(A) TAN P TI9D (B) Rz =1 T3
(C) 11 &1 0D (D) 7=t #1 24D
What is a function of a keyboard in computer? :
(A) Print /(B) Input (C) Type (D) In between input and output
PR H DA BT I A £ 7 ' '
(a) e (B) F19 (©)TF (D) T IR FTye & fu A
Which Indian film was nominated for an Oscar?
(A) Jurassic Park  (B) Alma Aras (C) Elizabeth P Lagaan
vy adg fren @ sifces @ g anfia fear ar a4
(A) T[T T (B) 3T IR (C) TRy (D) &=
Navy day is observed on- _ ¢
_fA) Dec 4 (B) Oct 28 (©)Nov 7 (D) Nov 14
AN R wa war sRn 82
(A) 4 TeHaR (B) 28 Sagax (C) 7 e (D) 14 TTEaX

Who 1s the author of the book *Naked Triangle™?

4A)R.K.Narayan (B)Khushwant Singh  (C) Balwant Gargi (D) Amrit Pritam

AP T TRE B AWD P 7

(A) IRD. TR0 (B) gy fug (C) 3aga T (D) I S

Which one of the following connects the different parts of a computer which is usually made up of
wires?

(A) URLs (B) Modem \,é) Buses (D) CPUs

Pl i A P g d Rt S g E MR R A I T ey & ?
(A) URLS (B) HisH ©) A= (D) CPUs

With which game does Santosh Trophy associated? :

(A) Tennis (B) Cricket JC) National Football (D) Golf

waw 21 5y A9 ¥ gana 27
(A) 2P (B) ¥az (C) T BeATE (D) s

e ——
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17.  The introduction of token currency by Mohammad-bin-Tughalaq did not succeed because
%) the scarcity of silver for minting the silver Taka was over
) Merchants refused to accept the token currency
(C) extensive counterfeiting of token currency
(D) foreign trade suffered badly
HEHT— T qTe® gN IS B ¢ A% 751 G 98 8% a0ife
(A) B8 THT B I B a0 Fidr B oo g & 72
(B) AWIRAT A a1 JaT WHR B ¥ IBR B¢ foa1 O
(D) T FaT B TNUEH AHarah
(D) faesh R 98 e 9 wfda & T o

18. Which one of the following is the first National Park established in India?

(A) Bandipur ) Corbett (C) Velavadar (D) Peri
. aRa H WA Y Y vEe st Sam 7 A w
; (A) TG (B) F1de < (C) FenaR Dyw

19.  One light year is approximately equal to ;
TP GPIY a4 Y ... B AR B R

df) 10" km (B) 10%m ~(C)10“m (D) 10" km
20. Fatehpur Sikri was once the capital of the Mugb:il/Empirc. This city was builtby
(A) Akbar \[{B) Shah Jahan {C) Aurangazeb ) Jahangir
BB RIH0 U6 §9Y T AT B aEEr o | $9 wER @1 iy g &
ar?
(A) AR (B) wmEwTEl (C) 3R (D) Wik
21.  Which state gives Nandi Award? _
(A) Kerala &) Tamil Nadu . (C)Kamataka (D) Andhra Pradesh
BT 799 TSI GRDR a1 22
(A) IR (B) af¥ierrg (C) TAeD (D) 3y Y

22.  Who is the author of the book “The Rights of Man’?
(A) Thomas Hardy  (B) ThomasMann € Thomas Moore (D) Thomas Paine
TR, S e G F B o@D DI B0

(A) g st (B) a9 #9 (C) T ) (D) g8 95
23. Which of the following term is used in game of Cricket?
(A) Love (B) Scoop HC) LBW (D) Tee
T W 59 e o1 @ o © 9w 3 g 22
Ayed (B) w5 (C) LBW (D) Tee
24.  Which one among the following was the first English newspaper in India in the year 17807
(A) The Calcutta Gazette ) The Bengal Gazette
(C) The Bengal Journal (D) The Bombay Herald
1780 W WRA A USTIQ B AT TSV IS @A DI W A1?
(A) & BTl oI (B) T 4Tt T
(C) & dmat et (D) T 914 eE
25. Rain water collected after 30 to 40 minutes of raining is not suitable for drinking because it
A) Contains bacteria and dirt (B) contains dissolved toxic chemicals
(C) is deficient in minerals (D) is acidic
| BH B 30 ¥ 40 frre o o 5w T @ier @1 o 99 g @ R @ it e
' (A) dFERaT SR el B & (B) gl BV WEdd HiaT B 8

(C) @fait & w4 2 @ (D) s &

IR LN e
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26. Calculate the 3™ proportional to 15 and 30.

15 3R 30 3 AR IR B T W)
_(A)S5 ®)15 ©)65 (D) 60

27. 0.204 %42
Fi
ind the square root of 007 A
0.204 x42 x42

007x34 & ol
ijs (B)6 W1 (CYFHARELES RS )9
28. Find the value of:
- frefeRee @ A IR B
S§'x6$+5-:;=?
_(K) 40 (B)40.5 (C) 425 U (D)43
29. Convert 9.467 into a vulgar fraction.
9.467 = |rERT = 3 S aN |
oz ®9= © 922 e DY

30. At what rate of annual simpie interest, acertamSumwiﬂMh-unsmISyw"
aﬁmmmaﬁmnwwﬁfﬁﬁmﬁﬁimﬁaw?

HA) 15% (B) 175 % (C) 20% (D) 25%

31. What will be the present worth of Rs. 169 due mzywnmpmmdw
4% R ¢ B wHafe e W 2 T 4 37 160 T B AW T ww A

AA) Rs. 15625 (B) Rs. 160 (C) Rs. 150.50 (D) Rs. 154.75

32 50 kg is what percent of 250 kg?
50 fraram, 250 Rrarm @ feemn it 87

(A) 26% (B) 15% R (D) 18%
33. Find the average of first 91 natural numbers. -

qeal 91 wipa WS B SRRy I |

(A) 45 (B) 49 _IE) 46 (D) 36

34, Apasonbuysabookforks.zooandsellsitforRs.ZZS.WMvﬂElispfmpaccm?

w-mﬂawgmuzmv@ﬁmaﬂvﬁmmmaw&ﬂMvmhmam
ey T 87
(A) 13% (B) 14% (C) 18:4% _Dy125%
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35. The present population of a city is 80,000, If&e“wdxiss%payw find its population after
3 years.
T T B i S 80,000 & | AR W 2 7% 906 o 7€ 2 o 3 ¢ B A I I Ry g6
(A) 88, 100 (B)95. 600 (€92, 610 JK) 84, 600
36.. 'Find the valve of: -
frerifder w1 s wra B —_—
12% of 980 2% of 450 = 30% of 227 -
(A) 14 (B) 17 ©n AD)s
¥
37.. The average weight of A, B, C is 45 kg. If the average weight of A and B is 40kg and that of Biand C
is 43 kg, then the weight of B is : o o e
A, B, C %1 3l R 45 frainmm &1 i A g8 B & sftwm s 40 el sk B.wd C @1 43
el & o B @ AR & Sl
(A) 17ke SBnke Ok ©)31kg
38. A shopkeeper claims to sell his articles at a discount of 10% but marks his articles by increasing the
cost of each by 40%. His gain percent is = "
U% GHITER 397 IR BT R 10% @ 9 W o o T avn & e ndw avg ®
T 40% e for Fan 8 | Swe S it w87
(A) 26% B) 29% (€) 30% (D) 35%
) 'V’, : v
39.  An angle is 32° less than its supplement. The measure of the angle is
32°mwmmsr§w%mtlduwm& a0
(A)37° (B) 74° : .%
Jlcy1age (D) None of these b3
40. Find the difference of place and face values of 4 in 324372. "/\4&
324372 ¥ 4 B s " R TE T W SRR 9 BY)
(A) 3996 (B) 3998
4€) 3398 (D) 3396
41 lZmencandoameoeofworkmum&'my&ysmwededtooompucthewwkxﬁm

do this work?

12 Iet el B B 24 mﬁmtf‘ﬁwmwsMMwﬂwm#
ey R s 2

(A)28 (B) 36 - oy
4C)48 (D) 52

LR

42. Acarcoversadis:anoeof690kmm30kmw:vmgespeedoﬂhcw9
@ TR 30 8¢ ¥ 690 A g ou o BV BR B Al AR @ R ?

(A)25 km/h (B) 23 km/h
_KC) 20 km/h (D) 18 km/h

=




i 45,
!
|

47.
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The unit digitin 7% is s Tapyle

7195 3 o 5w T L= w.

(A)5 £H7 ©9 D)1
Find the value of:

Prafafag o7 59 w7 39

416.08 - 107.19-99 =2 \/ F

(A) 288.89 (B) 288.99 298.99 (D) 29889
llemenorlswomméoap:eccofwmkml4days.ﬁovloqwi!l8menandl6womnketo
finish the work?

(A) 9 days (B) 12 days (C) 13 days D) 10 days

afy 12 S me#wﬁumﬁmm&cmmwMWm
e famr 3 a7 waa 87

(A)9 fas By12fR= Bk DOyioka

If sohail walks from his home 10 office at 16 kmvh, he is Jate by 5 min. If he walks at 20 kn/h, he
reaches 10 min before the office time. Find the distance of his office from his house.

M Hike J0 9 | P B g 16 e /92 @ R @ gw daw s BEe WA
ugm%lu&azzom/&aﬁvﬁ#mtdwmmq@m%lmm
X Pt B 20 T B 2

(A)22 km @20k 7 @ik 6 16k

In a class, the number of boys and girls is in the ratio of 4 S.Ifltmteboyspmthechss,tbcmuo
ofmnnbasofboysandgxrkmeS Howmanygﬂsucﬁ:cmdndas" '

5 P H ISl Sk Feieal B W 45D I F #1 3 59 4 F 10 IR T3
oY & A Sl ik SRRl B sya 6:5 B uiar 81 w3 o s #

(A)20 (B) 30 A)25 . .. (D)None of these/
O T | o
Find the value of:
A9 T B | g
3 (1331
+Jlﬁ'?

1 1 e i

A2 B)3- QAT s D)5

Thch:ghw.wommmmngm —ofthcmtalandmenmmm —ofthemnaindu' If the
scores differed by 9, lbcathewulscorcxs

w@ﬁwﬁ%w\vgau mmmmvbhhw—mnﬁm#ommtﬁrga
R e g

(A)99 (B) 110 A6 121 (D) 132

How much simple interest will Rs 2000 carn in 18 months at 6% per annum?
2000 ¥ WX 18 FEEI 9 6% ¥ 90 B R N R aewm @ ik g

- (A)Rs120 (B)Rs 180 AC)Rs216 (D)Rs2

h -




SL &&Mhmﬂ-ﬁmmmm!’m Tense
from the given optoas:

A few scholars left Karachi for abroad.
(A) A few scholars will left Karachi forsbroasd

(B) A few scholars shall leave Karachi for abroad
Jé) A few scholars will leave Karachi fords;d
(D) A few scholars leave Karachi for abroad
52.  On the basis of the given sentence pick ont the correct sentence converted in Negative from
the given options :
She wears simple clothes. .
(A) She will not wears simple clothes
P She shall not wear simple clothes
C) She does not wear simple clothes
(D) She is not wearing simple clothes

53. Antonym for :

PROFESSIONAL

(A) conservative ~[é) liberal *  (C)amateur (D) legal
54. Antonym for : .

DARKEN

(A) rejoice vé) bleach (C) inculpate (D) corolla
55. Find the synonym of : '

TERRIFIC

(A) Big (B) Excellent (C) Tragic /(6) Terrible
56. Find the synonym of :

EXOTIC !

(A) Beautiful v@ Colourful . (C)Excellent (D) Unusual

57. Find out which part of the sentence has an error. If there is no mistake, the answer is (D).
The school is (A) / within hundred yards (B) / from my house. (C) / No error GD)/

[ 58. Find out which part of the sentence has an error. If there is no mistake, the answer is (D).
The audience (A) / are requested (B) / to be in its seats(C) / No error (D)
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59. - Analogies:for : ¥ ST ' ~ IS

KANGAROO : JOEY ::

(A) lion : pride (B) goose : gosling 00 sl iy

(C) bevy : beauties ~(6) foal : horse D s B’ i1
60. Analogies for : ara ead i

FOOTBALL : SPORT - o

A) rhythm : poctry> (B) verse : literature

(C) dancing : ballet (D) research : biology'« v o

61. ‘Choose the option that describes the meaning of the following idioms and phrases :
In the blues : -
(A) behave like a fool A)m )
(C) melancholic and low spirited (D) having many blue things

62.  Choose the option that describes the meaning of the Mm and phrases

The pros and cons : N Ll
J(A) good and evil (B) former and latter
(C) foul and fair : (D) for and against a thing
63. Fill in the blank with appropriate given option: pogn
Sheis ... white woman.
AA)a (B)an. (C) the (D) that

64. Fill in the blank with appropriate given option: 1
Thave ....... headache.

Wa (B) an (C) the (D) that

65.  Choose the most suitable preposition : o as
J?hawker MOVes. ... house to house to sell his goods. |
A) from (B) against (C) between (D) through

66. Find out the error part of the following sentence :
The old man coatinued living a hard life (A)/ but néver he asked (B)/ for any help from
neighbours (&) No emror (D)

67. Complete the sentence with one of the word or phrase :
how much money the gangsters offered him, the judge refused to take a

bribe. o il ahsina s - :
(A)Thesamewzy (B) By thetime JéNomﬂm (D) Whenever

-




69.

70.

71.

72.

73.

74.

7.
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Choose the most suitable preposition : aRol o :

He is jealous........... me; 4

(A) with (B) into .6 of (D) at
Choose the most suitable preposition :

The publisher introduced me.......... Rajeevjee.

(A) for Byt | ‘.;t‘(C) of (D) with.

Find out the error part of the following m‘

She doss not bardiylhy/ Know what (BY Ragmesed yestesday. (C) No sroriD)

Fingd out the error part of the following senlence -
He ran so fastly¥A)/ that he reached (B)l wﬂmauon n (C)! just two minutes. (D)

Fill in the blanks with appropriate

De you play cricket? Yw, ) (RS

(A) play B) do (D) have
M :

Fill'in the blanks with-appropriate conjumction :

‘When she was at school, she ........... - up early." , ' :

(A) was getting yusedtoget.”  (€)had got (D) would

In the following question identify the comect sentences.

(I) Make a special note of any special chn_etenstlcs that a word has had.

(IT) The judge Mr. Dhuan increased the,g&nce of life i 1mpnsomnenu

(L) We had a lightish dinnier. _

(IV) Raveesh is very good at putting ¢ sdifferent : |
(A)Ionly  (B)landIN © l,nand HI D) None of the above are correct

In the following question identify the comect §

(I) It began with acquisitions in the information technology and related services seotor. -
(II) In pharmaceuticals, Wockhardt hasbwgbt C. P Pharma of the United Kxngdom for
$10.85 million. -
(IIT) Tata Tea has taken over Tetley of the UK. the world’s biggest tea bag maker, f_o_r $430
million.
(TV) With the proews, it has become. m s second largest tea company

(A)Har{dW B) 1V 9n.lx;1[ O Tonly (D)L, 11 and IV

o
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76.  Find the number of tangles m the given figure.
& ¢ Il § B @ v TaEd | VQADV
S ®)2 | »ﬁ‘b‘.«
(Cy2s (D)27

77.  In the following question. four positions of the samcdwehlvcbensbown. See these figures and
* -select the number oppesite to the number as asked in this

mmiwﬁw&aﬁmﬁuﬁmmﬁﬂ;m FPiEl B 2 iR AN
Rl e o1 o957 3% SEie 39 e ¥ gur Ty 87

Which number is opposite to sumber 1? '% :2 51 6l ﬁ?‘l
e 1 B Rl S we 87 — —

\/zAM (B)6 (©)2 (D)3 o W )
78. In the following question, select the correct option of the question asked.

When number 1 is at the top, which number will be at the bottom? = |
Frefafea oes 3 8 W 5 @ 9 Rew 31 957 391 B2 "
oI T 1 WY | B A &y U g 2 ™

(A)1 (®)2 3 (D)6 :

79.  Choose the correct murror image from the altematives (A), (B), (C) and (D) of the figure given on left side.
mﬁmﬁﬂia@ﬁ#ﬁwm),(a),(qsm(mi%wﬁwzﬁwuﬁﬁwaﬁ 4 |

A8 ® © O
80. Inthefollowmg whchoncofaltcmauves figure will complete the glvenﬁ pattern?

frfefa wea mﬁ%m—ﬁmﬂ!wmﬂzﬁ T BAT?

81.

82. Showmgtheladymthepuk,Vmeetsmd, “She is the daughter of my grandfather’s only son.™ How is
relatedmdmhd;ﬂ
)Brothet (C) Father (D) Uncle
m%ﬁmnﬁmaﬁﬁaﬁgqﬁm#m wﬁ%mtmgaaﬁgﬁ%: Ry &1
oW Aiten ¥ T wag ¥

(A) 7% (B) =21 g (C) frar (D) =T
83. A woman introduces a man as the son of the brother o mother. How is that man related to the woman?
(A) Nephew (B) Son Cousin (D) Uncle

U AR A U S B I A P WE D 4 B Y 5 UReyg Rur| 99 IeH 37 qXen ¥
e 2?7
(A) wefrr (B) 93 (C) T =% - (D) =Tan
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84. Find out of the next two letters of the given series..
@ TE HEA B FTe A AR BT YA G |
Z,D,X,G,V,J, T, M, ?2,?
)R, P (B)S,N ©OP,R (D)N, S
85. Which one of the Answer Figure shall complete the given problem Figure ?
Frefeien 3 9 290 SR apfa ¥ 2 7% 55w arpfy o B
Answer Figure / SOX STdir Problem Figure / §9%T i

EEE @R

86. In the following question, which one of the four Answer Figures on the right should come after the
Problem Figures on the left, if the sequence is to continue?
Frafefea e 3, aft srgpa e a1 9 @ a9 WO @ gEen Gl @ 9% o wme
P AR SR AT H § DT i S

87. Shan is 55 years old, Sathian js 5 years junior to Shan and 6 years senior to Balan. The youngest
brother of Balan is Devan and he is 7 years junsor to him. So what is the age difference between Devan
d Shan?
A) 18 years (B) 15 years (C) 13 years (D) 7 years

W 55 WA BT 2, G, UF § 5 Tk Biel 3N 9199 ¥ 6 9 93 2| 97T 31 94 BT
1§ 249 2 3R T8 SUR 7 Ui VIS 81 259 AR U9 B 95 ¥ oy w5 oy 22

(A) 18 W (B) 15 wra {C) 13 |t (D) 7 wra
88. In the following question, select the missing mumber
from the given responses : ‘ . . 4 3
g g ue # Ry 70 SRt ¥ ¥ s we g .
A) 343 (B) 512 : W o
(C) 729 (D) 1000

89. In the following question, a series is given with one term missing. Choose the correct alternative from
the given ones that will complete the series.
8 Ry g ¥ ve Wle & 7 Rred v e anie 21 Ry v Redt ¥ a wd g
a1 g fored dh 9@t & S

3,975, 864, 753,642, ?
) 431 (B) 314 (C) 531 (D) 532

90. Find the answer choice which gives the same relation as is found between the two terms to the left of
the sign:
T HEl SR A e g, o fore 3 3 @R Ry 1y B v @ A @ way B gutr &
ADE : CFG :: GJK :
X ILM (B) IML (C) QRT (D) VWX

1. .How many 13’s are there in the series which are preceded by 8 and followed by 7
@ 1% A0S A Y fan 13 ¥ e ues 8 @R @i ¥ 7 o B _
813781378378137813787813787 \x{

(A)1 (B)2 ©)3 ) 6

e TR




92.

93.

97.

100.

(A) FEom (B) 3% (C) 1§ (D) fianr
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Arun walks north east and after some distance turns Jeft and walk then again he tums left.
In which directions is he going now: Lo /
(A) South West (B) South (C) West . (D) North
Srev aTR-gd 9% aly, W € ¥R 7o gf me e @ a% W SR e w § 3R ater v @ AR
% gar @i 58 wwn &) W 3w R R A on w82
(A) e af¥es (B)gﬂﬂ'l | ' (‘Qwﬂn (D) IR
Rajiv is the brother of Atul. Sonia is the sister of Sunil. Atul is the son of Sonia. How is Rajiv related
to Sonia? v

(A) Nephew ) Son (C) Brother (D) Father
Tt sa@ &1 9 & A e 9 ae ¥ sga Wit e g 81 wehe o e 9§ s g 87

In a row of students, Soban is 9th from cither end of the row. What is the mumber of students in the row ?
e & e saw 4 e sar & A o & of W W we &) 9 FaR A A

freei} &7 / .
(A) 10 a‘us (€) 17 - . D

Choose the correct mirror image from the alternatives (A), (B), (C) and (D) of the figure given on left side.
Tl /% & T TP B [EAT (A), (B), (C) IR (D) F § WA & 71 v B |

#. 5e ' ™ 7
- ...——-
-
P :

*) B © O =8 |
In the following question, which one of the four Answer Figures on the right should come after the
mmﬁstmon!hcvkiﬂ'ﬂnsequcncc is to continue? o it el -
P IR IR AP F § S AP IGH? . |

Problem Figure Answer Figure
TR PR TR SAPT = o 4 gt
- ;r——!'; \[_l 1t ) TP GOl o gL
1 — N £ Xt x = A -

In the series. you will be looking at letter pattern. Fill the blank in series.

sa_siymﬁ?mm#mtﬁﬁuajmawmﬁmﬁmz

CMM! E00, GQQR \85 . KUU 1

(A) GRR (B) GSS 1SS (D)ITT

Find the missing figure from the given alternatives : o el o o

Ry e SRyl % & wh Rt T K i

! RS |
I 020 R
& =

Which of the following word does not belong to the group of other three ?

(A) Circle (B) Orb (C) Sphere ) Globe

ey 3 @ -9 7 a9 B dF vl @ @ @ S ol 8 7

(A) g (B) TAHR C)men - (D) Ne®

If'S is the brother of N. the sister of N is M, the brother of P is J and the daughter of S is P then who is the
uncle of J2 ¥ o b o

S Ns A RN awAME Parag ISR SH AP @ J & siwa P 7
(A)] (B)S e M




